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Lessons 1
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Lessons 6
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Lessons

6-12
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Mixed Homework Sheet 10

1.8X6+(8—6)x2

2. Function Machines

5 [ %6 >| 20 >
x5 > 20 »= -98

3. The ratio of cars to trucks in a parking lot was
4:7. For every cars there were
trucks.

4. A rectangle has a perimeter of 24 cm and an
area of 35 cm?. What are the lengths of the
shorter side and longer side?

5. What is the probability of choosing a jack or
a queen from a standard deck of 52 playing
cards?

6. What is the median of the following set of data?
121101934979

7. Express 225 as a product of it's prime factors.

8. What are the missing terms in the following sequence?
47,16

9. Is the exchange rate is £1 = $1.82, how many dollars
would T get for £560

10. What is the size of the missing angle?

&

11. The weights of six dogs in kilograms are; 12.1, 14.3,
10.8, 14.0,10.7 and 15.5. Calculate the median weight of
the dogs.

12. The probability of a biased coin landing on heads is 0.55. T
flip the coin 200 times, how many times would the coin land on
heads?

13. Order the following from smallest to largest.

£.2,0.66,78%

14. Find the value of the following expression if a
=2,b=5andc = 9.
5 (a + bc)

9230
15. What is the area of the following shape if each square
is one centimetre wide?

16. You have a deck of cards. Find the probability of
drawinga 7.

17. In a sale the cost of a computer is reduced
by 30%. The normal price of the computer was
£900.

Calculate the sale price of the computer

18. Solve the following equation

4x +6 =-10

19. What is 4.2m in mm?

20. The bar chart shows students favourite fruit. What is
the difference between votes for apples and votes for pears?

Students Vote for Favorite Fruit

Apples 5

Bananas

Grapes

Oranges

Pears

Strawberries

Number of Students

Total: /20

Personal Target:




Mixed Topic Homework Sheet 11

1. Calculate 5 x 7 -9 =

2. Fill in the gaps on this function machine

5 [ x4 [ +1 >=
X S =17

3. Write the following ratio in its simplest form,
8:24

4. What is the perimeter of the following shape?

6cm

12 cm

5. If I have 22 shirts and 4 are blue, what is the
probability of me choosing a blue shirt?

6. What is the mode of the following set of numbers?
2,3,6,7,7,9,9,11,13

7. List 5 different prime numbers between 20 and 40

8. Write the next three terms of the following sequence:
5,9,13,17,

9. If I need 70 chocolate chips to make 10 cookies, how
many do I need to make 20 cookies?

10. The friangle below is an equilateral triangle, what is the
size of each angle and why?

11. Find the median for the following set of numbers:
12,15,15, 16,19, 21, 25, 27, 32

12. If the probability of choosing a strawberry from a bag
of strawberries and apples is 0.35, what is the probability
of choosing an apple?

13. Write the following decimals from smallest to largest:

0.013,0.39,0.31,0.45,0.045, 45

14. Simplify 7x + 2y + 3x + 9y

15. What is Thf.zar'ea of the following shape
cm

5cm

16. Write down all the possibilities when rolling a fair six
sided die.

17. What is 50% of 170?

18. Write an expression for the total cost of 5 pencils and
6 rubbers.

19. How many metres are in 9.5km?

20. If the pie chart below represents favourite sports of
90 people, approximately how many chose rugby?

Total: /20

Personal Target:




Mixed Topic Homework Sheet 12

1. Calculate 4 +9 + 3 =

2. Fill in the gaps on this function machine

5|x6>|—3
X6 >3

>=
> =45

3. If the ratio of gold coins to silver coins is 2:5, how many
silver coins would I have if I had 8 gold coins?

4. What is the area of the following shape?
13cm

3cm

5. If T have 40 flowers and 5 are red, what is the
probability of me not choosing a red flower?

6. What is the median of the following set of humbers?
2,3,4,6,7,7,9

7. Circle the prime numbers from the list below:

2,17, 27, 63, 77, 97, 31, 43, 21, 39

8. What is the term to term rule of the following sequence?

52,48, 44, 40, 36

9. If I need 60g of flour to make 12 breadsticks, how much
flour would T need to make 18 breadsticks?

10. What is the size of the missing angle in the diagram
below? '

w7\ ¥

11. Find the range for the following set of numbers:
12,15,15, 16, 19, 21, 25, 31, 37

12. Complete the two way table below. What is the
probability a person selected at random liked both star
wars and titanic?

o Like Dislike
ANSWER “Titanic” | *Titanic"” ataia
Like "Star
Wars" 70
Dislike "Star
Wars" 50 50
Totals 250

13. Write the following fractions in order from smallest to
largest:

1/5 1/8 2/9 3/8 4/5

14. Simplify 5e + 9f - 8e - 8f

15. What is the perimeter of the following shape

6cm

8cm

16. Write down all the possibilities when rolling a fair six
sided die, and flipping a fair coin.

17. What is 30% of 180?

18. Write an expression for the total cost of 15 bracelets
and 6 watches.

19. How many millimetres are in 53cm

20. If the pictogram below represents peoples favourite

sports, how many chose tennis?
Sports Played by 3™ Graders

football 40 €5
tennis @ @ @
rugby @ @ @ @ @ @

Key @= 10 students

Total: /20

Personal Target:




